BNl

o1

SMeE 11 A 11AH
X bt
XEBERELTE®HHEERKRNKR
SH6EI10AR HEES)
1 SM6FI0ARDRBEM
#A RS 108 10AX
X 5 % % W0 W B R E W A R A | o P TR 14T
AB=ams| 225| 16| 07| 19799 91| 05| FIFREEASLEAN -9 -8A
3 o # 14 -3| -17.6 115 -8 6.5 [+ ABEHHEHIL. 0.5% DD
& 1§ & #| 2566 -53 -20| 23333 -220 -09 |+ BEEHIX. 0.9%DFHLD
2 ARIEEH
~ 10AFDORXEIZI1ANT.SADHEL ~
(N) 20
B&HISE
15 OGM6E
10
5
%/ A 1A |2B | 3B |48 [ 58[6B | 7B [ 8A [ 9B [1WA|11B]12B] & &
SHI5E 6 10| 19 13| 15 9 10 11 13 17 11 11 145
SH6E 10 12| 13] 13 8 9 11 15 10] 14 115
1 E +4 +2 -6 0 -7 0 +1 +4 -3 -3 -8
% [+66.7[+200[-316] 00[-467] 00]+10.0]+36.4]-23.1[-176 -6.5
3 SEEBEHDOERHF
(A)wo
150
120
90
60
30
0B % ERL27TEE | F 285 | FR29FE | FER0E| FFTTE | SF24F | FHM3E | FH4E | HF5E | FF6E
EEH 171 164 157 157 124 127 87 111 123 115
] $HMTE0RIET. FHRINEDEDEET,
4 EREFTRBIFEE B
(AN)
JEGL| ERERFE | SEES | EE | BRE 120
1 E 116 +13 +12.6 100 |
2 T A 115 -8 —6.5
3 | ¥ = 108 +12 | +125 80 |
4 X K& 97 20| -17.1
5 [ # & I 89 —7 —73 60 [
6 E B 86 +8 | +10.3
7 [ 1t & & 85 19| -183 4 H
8 | B =% 84 -8 —8.7
9 | % W 76 -3 -3.8 20 |
10 N 75 -5 —6.3
] 2128 +4 +0.2 0

CEIZ MR ERR{ANEFRANEERIE.
SH6FEI10HINBRENEEETHD.

—
=7




5 RBIETEHDEHA

(1) 7 (2) HEEHR (3) FEHEEEA
~ ZEENEHE ~ ~ HITENSHE ~ ~ ETEMmA L RIEM ~
(A) 30 (Nsg (A0
ORHSE10A%K 45 | ORFSE10A K 35 ORMSEI0AK
25 | % L £FN64E108 K BHFEFI0AK
BHH6EI0AR :g B4FI6410 0 —|
20 30 | 25
15 25 20
10 20 15
:z 10
| s m ‘|
& | ®m | & | ® | R | & 5 | 8 |FR| - | E &z amu| w | & | £ | E
| B |EB|=|= s |f |22 |m|o st | W | & | B | E
= & R A | = & B |ng| # #% 3 it 79 (-] *® ) Py £
REH 26 20 21 18 22 8 EEH 46 20 0 9 15 25 0 FEEH 29 16 30 4
HAE| 226 174 183| 157 19| 70| |#m=*| 400| 174] o00[ 78| 130 217| 00| |#m=*E| 252] 139| 261 35
HiEs| -3 -7 +5 -5 | -2 [ o] -3 0 0 0| -5 0 E%| -4| -10| +10| +2
| 103 | -25.9 |+31.3 | -21.7 [ +22.2 | -20.0 WEE| 00[-130]| — 00| 00|-167]| — B | 121 | -38.5 | +50.0 |+100.0

4) FH#ER
~ mfmENSEIEM ~

[(Z] BEHBEREDSE. ALAYREER19A (95.0%)
56, S EERML : EEER12.A(63.2%)

(5) Rl

~ BIRAEHE ~

25
10.4%

L
10.4%
BRI
18.3%

(6) EEERIKA
~ RERANEFE ~
Z it

X 4 |GE%|mE | meg] meE [ ) SEEH | mAkE | s | e E [ 1nm X % E FAEEEAELES
ZED 2 1.7 0| 00 & (A6~A9) 12| 104] -5|-294| 40 RESR J -235
= H 6 52| -5|-455 B #i (A9~PO) 21| 183| +3|+167| 7.0 RE AT } 0.0
— & 44| 383 -7[-137 Rig¥ (PO~P4) 15| 130 -2[-118| 38 L ! +6.3
A 63| 548| +4| +638 5 5 (Pa~Pe) 13| 11.3] +5|+625| 65 Z 0t ] +125.0
[E] CELIGMUT, BEE16RE~245% B & (P6~P10) 25| 217 -2| -74| 63
—hR255% ~ 647% .. = EE 65 L F & (P10~A0) 3 26| -11|-786| 15
# W (A0O~A4) 14| 122| +1| +11 35
B & (A4~A6) 12| 104] +3]+333| 6.0
M EFERB(E1ERER) (8) EUEESLRBHRAEENKR 9) O—MRIVRERKR
~ —REMFULDSTEHESENSH ~ ~ BB T ER I 24 ~ ~ JEEFAMIA ~
- ) ¢
X o B R | k| R
% A 113 | 1000] -9 -74 FEMAIA BRA1BA
_ F 95| 841| -4 -40 5
N E 33| 202 -3| -83
B |g[ESE® 7] 62] +2]+00
B | AEEEE 5 44 -1[-167 4
5 |SEBESE 17| 150 0| 00
ft | —mrEr 4| 35 -4]-500
o (®E®m o o] ool o] — 3
. | Z2EE&EH| 42| 372] +8[+235
z 0O 20| 177] -9]-310
%R B 0 0.0 0| — 2
E EEER 0 0.0 0| —
i —BEREL 0 0.0 o| — o e BEZS e
2H Zok o] oo o = 1 B 9 |\ EER geranEzom o
] N5t 10 8.8 0| 00 & 3 21 1 3 0| 25
= 5 af 4’{: ﬁ 1 09| -1[-500 fgﬁ; 10 1 2 0 13
—BTE 1 09| -2[-667 N N N 8 0 1 0 9
Ed z 0 8| 71| +3[+600 py | PRAE | THSE | Hi6E ELE 5 0 1 0 6
% N E 8 71]  -5]-385 4 5 2 &R 3 0 0 0 3
T | EEER 5 44| -4 [-444 GE) 9% —BEAULOE—LEE Gl HREEEALTONRIEEBM =B Hhb A
£ S 0 0.0] -1 [-1000
= z 0 3 2.7 0| 00
Z Dt B8 0 0.0 0| —




